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ΘΕΜΑ 1ο  
1. α 
2. β 
3. γ 
4. γ 
5. α. Λάθος       β. Σωστό γ. Σωστό  δ. Λάθος   ε. Σωστό 
 
ΘΕΜΑ 2ο  
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ΘΕΜΑ 3ο  
Α. To  K  πρώτο σημείο ενίσχυσης οπότε  r1 - r2 = λ 
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όμως  
5π 5π 10πy = 0,2 ημ (t - 2)  = 0,2 ημ t - 
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Άρα  Α = 0,1m  
t 5πt 62π  =     T = sec
Τ 3 5

u = λf    λ = uΤ    λ = 0,6m
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r  + r 10π 13λ  -2π  + π = -     r  + r  =  
   AB = 2,6m2λ 3 3

     AB = r  + r

 r  - r  = λ
16λ   2r  =     r  = 1,6m13λ 3    r  + r  = 
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    r  - r  = λ = 0,6    r  = 1m
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  2r  = Nλ + AB    r  = 0,3N + 1,3

     r  + r  = AB
13 13     0 < r  < 2,6    0 < 0,3N + 1,3 < 2,6    -  < N <   
3 3

     N = -4 , -3 , -2 , -1 , 0 , 1 , 2 , 3 , 4    9  σημεία
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ΘΕΜΑ 4ο  

2
γ γ γ
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1 1  τ = Ια     ΤR = MR α     T = MRα
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Με απόδειξη  α = αγR,  οπότε  
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α ω = α t    ω = t    ω = 20 rad/sec
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Γ. Α.Δ.Ο 

   
1 1

πριν μετά 1 1 1 2
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m up  = p   m u  = m  + m V  V = 
m  + m  V = 1m/s

u  = αt    u  = 4m/s
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Π.Θ.Ι: 1 2 1F = 0    kΔl  = m g    Δl  = 0,15m   
Ν.Θ.Ι: 2 1 2 2F = 0    kΔl  = m g + m g    Δl  = 0,2m   
Α.Δ.Ε.Τ 
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    2
εξ 1 2 1 2

ΔP  = F  = m  + m α  = m  + m ω x = kx  
Δt
ΔP      = 20N
Δt
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